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P - II (1+1+1) G / 20 (N) SUP

2020

ZOOLOGY (General)
Paper Code : V-A & B

[New Syllabus]
(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : V-A
Full Marks : 10 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. The bacterial system has  number of RNA polymerase.

(A) 1

(B) 2

(C) 3

(D) 4

1Ð þîÄy„þöìÝþ!îûëûyîû xyîû ~˜ ~ þ™!œ›yöìîû‹ ¢‚…Äy £œéôôôé

(A) 1

(B) 2

(C) 3

(D) 4

2. Which one of the following processes does not occur in prokaryotes ?

(A) Replication

(B) Transcription

(C) Translation

(D) Splicing

2Ð þö²Ìy„þÄy!îûçöìÝþ !˜öì‰þîû ö„þy˜ ‡Ýþ˜y!Ýþ ‡öìÝþ ˜y Ú

(A) öîû!²Õöì„þŸ˜

(B) ÝþÆyª!e«þ™Ÿ˜

(C) ÝþÆyªöìœŸ˜

(D) ßþ™Ïy£z!¢‚
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3. Which of the following is not a clonning vector utilised in recombinant DNA
Technology ?

(A) Plasmid

(B) Cosmos

(C) Bacterial Artificial Chromosome

(D) Yeast Intact Chromosome

3Ð þöîû„þ!Áº̃ yrÝþ !vþ~˜~ öÝþ„þöì̃ yœ!‹öì“þ ö„þy˜!Ýþ ö¦þQîû !£öì¢öìî îÄî£yîû £ëû ˜y Ú

(A) ²Õy‹!›vþ

(B) „þ‹!›vþ

(C) îÄy„þöìÝþ!îûëûyœ xy!ÝÅþ!šþ!¢ëûyœ öe«yöì›yöì‹y›

(D) £zÞÝþ £zrÝþÄy„þÝþ öe«yöì›yöì‹y›

4. The blotting technique which is used to detect RNA in a sample is —

(A) Southern Blotting

(B) Eastern Blotting

(C) Western Blotting

(D) Northern Blotting

4Ð þö„þyöì̃ y ˜›%̃ y öíöì„þ xyîû ~˜ ~ !˜’Åëû „þîûöì“þ !˜öì‰þîû ö„þy˜ îÏ!Ýþ‚ þ™kþ!“þ îÄî£*“þ £ëûéôôôé

(A) ¢y”y Å̃ îÏ!Ýþ‚

(B) £zÞÝþy Å̃ îÏ!Ýþ‚

(C) çöìëûÞÝþy Å̃ îÏ!Ýþ‚

(D) ˜yîû”y Å̃ îÏ!Ýþ‚
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5. Electron Transport System occurs in—

(A) Inner membrane of Mitochondria

(B) Outer membrane of Mitochondria

(C) Ribosome

(D) Lysosome

5Ð þ£zöìœ„þÝþÆ˜ ÝþÆyªöìþ™yÝÅþ !¢öìÞÝþ› ö„þyíyëû ¢‚‡!Ýþ“þ £ëûÚ

(A) ›y£zöìÝþy„þ!uÈþëûyîû xhsþƒþ™”Åyëû

(B) ›y£zöìÝþy„þ!uÈþëûyîû î!£ƒþ™”Åyëû

(C) îûy£zöìîyöì‹y›

(D) œy£zöì¢yöì‹y›

6. Autonomic Nervous System include —

(A) Heart Beat

(B) Secretion of Saliva

(C) Secretion of juice

(D) All these above

6Ð þ˜#öì‰þîû ö„þy˜!Ýþ ßþºëû‚!e«ëû ßþ¬yëû%“þöìsþfîû xhsþ†Å“þ Ú

(A) £*”äßþ™¨˜

(B) œyœyîû¢ !˜ƒ¢îû’

(C) þ™y‰þ„þîû¢ !˜ƒ¢îû’

(D) çþ™öìîûîû ¢î=öìœy



Page :  6  of  10

7. During Blood coagulation Thromboplastin is released by —

(A) RBC

(B) Blood Plasma

(C) Leucocytes

(D) Clumbed platelets and damaged tissues

7Ð þîû_« “þMþéöì̃ îû ¢›ëû íÊöìÁºy²Õy!ÞÝþ˜ öîöìîûyëû öíöì„þéôôôé

(A) RBC

(B) îÏyvþ ²Õy‹›y

(C) !œvþzöì„þy¢y£zÝþ

(D) „ÏþyÁ™vþ ö²ÕÝþöìœÝþ ç vþÄyöì›‹ !Ýþ¢%Ä

8. F-1 granule present in which organelle

(A) Chloroplasts

(B) Ribosome

(C) Mitochondria

(D) Lysosome

8Ð F-1þ„þ!’„þy íyöì„þé ôôôé

(A) ö„Ïþyöìîûy²ÕyÞÝþéôé~

(B) îûy£zöìîyöì‹y›éôé~

(C) ›y£zöìÝþy„þ!uÈþëûyöì“þ

(D) œy£zöì¢yöì‹y›éôé~
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9. What is the functional unit of kidney ?

(A) Nephrons

(B) Neurones

(C) Alveoli

(D) None of the above

9Ð !„þvþ!˜îû „þyëÅ„þîû# ~„þ„þ ö„þy˜!Ýþ ôôôé

(A) ö˜šÊþ˜

(B) !˜vþzöìîûy˜

(C) xyœ!¦þçœy£z

(D) çþ™öìîûîû ö„þyöì˜y!Ýþ£z ˜ëû

10. Action Potential is generated in which of the following —

(A) Neurons

(B) Hepatocytes

(C) RBC

(D) None of the above

10Ð þ!˜öìÁ¬îû ö„þy˜!Ýþöì“þ ~„þŸ˜ öþ™yöìÝþ˜!Ÿëûyœ ¢,!ÜT £ëû Úé

(A) !˜vþzöìîûy˜

(B) ö£þ™yöìÝþy¢y£zÝþ

(C) RBC

(D) çþ™öìîûîû ö„þyöì˜y!Ýþ£z ˜ëû

—————
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P - II (1+1+1) G / 20 (N) SUP

2020

ZOOLOGY (General)
Paper Code : V-B
[New Syllabus]

(Supplementary)

Full Marks : 40 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Write your answer within one page for the questions carrying 4 marks each
and within three pages for the questions carrying 12 marks each.

Unit - 1

(Molecular Biology and Biotechnology)

1. Answer any two questions : 2×4=8

(a) Describe briefly the structure of plasma membrane.

(b) What is cell cycle ? State the different phases of cell cycle. 1+3

(c) Write down the termination and initiation codons. What is mutagen ? Give one
example. 2+1+1

(d) Write down the characteristics of a cancer cell.

2. Answer any one question : 1×12=12

(a) What is nucleosome ? Explain Griffiths experiment in proving DNA as genetic
material. 2+10

(b) What is Frame shift mutation ? Describe the Numerical abberations of
chromosome. 2+10=12

(c) Explain the law of Independent assortment of Mendel. Discuss the Dihybrid
cross of Mendel. 6+6
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Unit - 2
(Animal Physiology and Biochemistry)

3. Answer any two questions : 2×4=8

(a) Explain how enzymes catalyze the biochemical reaction.

(b) What are corpora allata and corpora cardiaca ? 2+2

(c) Explain osmoregulation ? Give one example of anadromous fish. 3+1

(d) Write a note on ABO blood grouping.

4. Answer any one question : 1×12=12

(a) Classify proteins on the basis of their components. What are saturated and
unsaturated fatty acids ? What is zwitter ion ? 8+3+1

(b) State the different steps of blood coagulation. Differentiate the types of WBC
with diagram. 6+6

(c) What is spermateleosis? Define gametogenesis. Describe the process of
oogenesis. 2+2+8

îDy %̃îy”

£zvþz!˜Ýþ éôé 1

1Ð öë ö„þyöì̃ y ”%!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

S„þV ²Õy‹›y ö››öìîÊöì̃ îû †àþ˜ î’Å̃ y „þöìîûyÐ

S…éV ö„þy¡ì‰þe« !„þ Ú ö„þy¡ì‰þöìe«îû !î!¦þ§¬ ”Ÿy=!œîû ˜y› vþzöìÍÔ… „þöìîûyÐ 1+3

S†V ¢›y®„þyîû# ç ¢)‰þ˜y„þyîû# ö„þyöìvþy˜=!œîû ˜y› öœöì…yÐ !›vþzÝþyöì‹˜ !„þ Ú ~„þ!Ýþ vþz”y£îû’ ”yçÐ
2+1+1

S‡V „þÄyªyîû ö„þyöì¡ìîû ÷î!ŸÜTÄ=!œ öœöì…yÐ
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2Ð öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 12×1=12

S„þV !˜vþz!„Ïþçöì‹y› !„þ Ú !vþ.~˜.~. öë ö‹öì̃ !Ýþ„þ îlßþ “þy£y !@ùÌ!šþöìíîû þ™îû#Çþyîû ¢y£yöìëÄ ²Ì›y’
„þöìîûy 2+10

S…éV öšÊþ›!ŸšþÝþ !›vþzöìÝþŸ˜ „þyöì„þ îöìœ Ú öe«yöì›yöì‹yöì›îû ¢‚…Äy†“þ þ™!îûî“Åþ˜=!œ öœöì…yÐ
2+10

S†V ö›öìuþöìœîû ßþºy•#˜ !î˜Äyöì¢îû ¢)e îÄy…Äy „þöìîûyÐ !m¢Bþîû ‹˜˜ þ™kþ!“þ xyöìœy‰þ˜y „þöìîûyÐ
6+6

£zvþz!˜Ýþ éôé 2

3Ð öë ö„þyöì̃ y ”%!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

S„þV vþzêöì¢‰þ„þ „þ#¦þyöìî ÷‹î îûy¢yëû!˜„þ !î!e«ëûyîû £yîûöì„þ !˜ëû!sþf“þ „þöìîû Ú

S…éV „þîûöìþ™yîûy xÄyœyÝþy ç „þîûöìþ™yîûy „þy!vÅþëûy„þy îœöì“þ „þ# öîyGþ Ú 2+2

S†V x¢öì›yöìîû=öìœŸ˜ îœöì“þ !„þ öîyGþyëû Ú ~„þ!Ýþ xÄy˜yöìvÈþy›y¢ ›yöìŠéîû vþz”y£îû’ ”yçÐ 3+1

S‡V ABO îû_« ö×’#îû çþ™îû Ýþ#„þy öœ…Ð

4Ð öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 12×1=12

S„þV vþzþ™y”y˜ x %̃¢yöìîû ö²Ìy!Ýþöì̃ îû ö×’#!î˜Äy¢ „þöìîûyÐ ¢Á™,_« ç x¢Á™,_« šþÄy!Ýþ xÄy!¢vþ „þyöì„þ
îöìœÚ ‹%£zÝþyîû xyëû̃  „þyöì„þ îöìœ Ú 8+3+1

S…éV îû_« “þMþéöì̃ îû !î!¦þ§¬ •yþ™=!œ vþzöìÍÔ… „þöìîûyÐ !‰þe ¢£öìëyöì† ö›îû&”[þ# ²Ìy’#öì”îû öÙ»“þ„þ!’„þyîû
!î!¦þ§¬“þy xyöìœy‰þ˜y „þöìîûyÐ 6+6

S†V ßþ™y›ÅyöìÝþ!œç!¢¢ !„þ Ú †Äyöì›öìÝþyöì‹öì̃ !¢¢ îœöì“þ !„þ öîyGþ Ú vþzöì‹öì̃ !¢öì¢îû þ™kþ!“þ!Ýþ öœöì…yÐ
2+2+8

–––––––––––


